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Ray argues with him in one — XTI 7hY 399D 20

Overview

The X3 concluded that X917 " maintains 71nnna 9y 5919 7°, whether he is a hired
worker (21> 7°5w) or whether he is a contractor (1727); however 211 agrees with 7"
regarding a 122p (that 70107 v 17°) but disagrees with him regarding a 01 oW,
for there 1oy By %310 7 according to 21. Our MooIN reconciles our XM with a
seemingly contradictory Xna.

mooIn asks:
= 191930199 N9YNT INT (0w §,ap xnp xa3) NP TN 7992 9NN ON)

And if you will say; in 8%p ®1377 p5, where the X713 states the 71297 is like our

TN -
- %13 9111 991 XNPYOS XNAYA 1Pa NY INT DIVN NNNNNN YY 1T TNavnn Yt

That whoever changes he has the ‘lower hand’, the reason we know the 772717 is
T1NnNT Y 7 mwnn 93, because it is taught together with the fixed 7597 of %2

T1NNNT 9V 170 2 W -

- 99 19947 295 197 “NINDY 13 NN YT 905 N9YN PR NOM
However, the 7297 is not like this ruling of annnna v 170 32 =amnm 92, for
presumably the ruling is like 29 who argues with the s'7w» ruling and maintains that
19112 Y 2120 5319 and 7319 %Y 919 7. There is a contradiction between the ruling of 27 here

that 12 2 n% 212° %90, and the assumption of the XX in p"2a that the 7397 is Y 17 12 a7 92
nnnnna.

Mo0IN answers:
= AMNN YT PNINMD 29 920 PaYY NINT NN FOYIIND 920 DNNT 9 U

" If an employer hired a worker to (for instance) dye his wool black, and he dyed it red, according to 77 ") (who

argues with n"7) the owner has the upper hand, meaning he pays the worker the lesser of (either) his expense in

purchasing his dying ingredients), or the increase in value of the wool (whichever is less). The X723 there rules like

*" because our 7Iwn states I1NANT ¥ 170 1awn 23. See following footnote # 2.

* The ruling of 73wn %3 has no place in our mxwn, however the 73wn mentions it together with %y 17> 12 M 92

nnna to let us know that (even though there is a np17nn regarding nawnn 95 [see footnote # 1] nevertheless) just

like the 712777 is 713nN7 %9 17° 12 NN 95 (since we do not find o°Xin that argue) similarly the 7377 is %¥ 17 7awnn 95

annnna. [The actual W of the X3 there is H¥ 17° 12 NAA 921 A1NANT H¥ 177 mwni 92 RNPY0D RN "2A 1772 °anpT own

annnna.] See footnote # 6.

? It is obvious that the X3 there assumes that the 79971 is certainly 7nNANA 29 17 12 IMAT 9.

* The n"an1 M amends this to read, XANONT (instead of ®nnov).

> The XX My2°X here maintains that the 71wn here which states 7nnANA 9¥ 17° 12 A 93 is not discussing a %319 (for

by a v the rule is 711°2v7 BY 17°), but rather a case of a retraction in the sale of a field (v"»v), to which 27 agrees.
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And one can say; that that the X7n3 there agrees with the 825X nsy2°R here that
2n indeed agrees with our 7w of 71NN YY 17> MM B,

mooIn offers an alternate resolution to the contradiction:
- SN0 NNSYA 523 N3N 1Y NINT 1999 ) IN

Or you may also say; since the rule of 121 71wni7 92 was taught by xnp e xn2»:7 -
= ANHNNN LY 1 NIYNN YT XNIYN ’9NT NINN 930 )9 ON

Therefore we can assume that the Xin of our 71w» assumes that this is the ruling,

that 739007 S 17> mawnn Hs -
= 195N PN IMINN YT NINNAT NN

So granted that regarding the ruling of 713nnn7 5¥ 17> 92 9117 2, the X3 in P2

may agree that this is not the 1797, since the 715771 is like 21 that 12 Mm% 912> H¥19 -
:+1199Y 99T NN JNIYN N91 1990 NN MIWNn Y97 XyNN 01PN Yan

Nevertheless, that ruling of n1nnna 5y 17 mawnan ®2 is the valid 12971, since we do

not find any X912X which argues on it (as we found regarding the 7397 of 12 nnA 93,
where 27 argues with it).

Summary
The X3 in "2 (which maintains the 73777 is 710007 ¥ 17° Mawnn 92) can either

maintain the 7297 is A1NNNT %Y 170 12 NN 92 (according to the XX NOWAR), or it
can disagree with the ruling of 12 211777 %5.

Thinking it over
How can we explain the differing views of the first answer of m»oIn (that if the

79277 is not AINANT 121 12 a9, the 7997 will not necessarily be 121 mawnia 93
a1nnn;7), and the second answer of NMdOIN (that even if the 73777 is not 121 A 9
n10nn7, nevertheless the 75957 is 7130005 191 mawng 93)?

Therefore the X3 there (in 7"2) rightfully states that the rule (of our 7awn) that ANARANT %Y 17° 12 AT 93 is indeed
Xnp 0o ’n377 (for [even] 27 agrees to that rule).
® The meaning of Xnp*0d Xn3777 (according to this answer of '0In [see *23 71"7 X,2p "2 'o1n]) may be that the manner in
which the 71w states it, i.e. 121 12 N7 22 191 mwnn 99, indicates that the Xin of the 73wn is convinced that this is a
universally accepted 179977. [See (also) the end of footnote # 2 regarding the X073 of the X713 there in p"2.]
"It is this ruling of 7awni1 %2 that is relevant there (see footnote # 1), not the ruling of 12 217 %3.
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